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oMY S ojprey | EEE | =g
Of| <4
200 2232Z 44,327,123 | 23,445,757 | 20,881,366
=H| 12,873,000
AlZ=H| 365,642
A2 31,088,481
230 SEAHAERIE 43,335,523 | 22,455,828 | 20,879,695
=H| 12,873,000
AZ=H| 365,642
A2+ 30,096,881
234 1%& 41,611,165 21,949,178 | 19,661,987
=H| 12,873,000
Al=H| 365,642
Alzt=tH| 28,372,523
401 AlgH| Loy 41,611,165 21,949,178 | 19,661,987
=H| 12,873,000
Al=H| 365,642
AlZ~tH| 28,372,523
01 AlZH]| 41,099,669 | 21,629,707 | 19,469,962
O 2005 542 H[BTLAFY UCHZE(Z 2,446,000, Al 1,049,000)
3,495,000,0009 x 14 = 3,495,000
=H| 2,466,000
A8l 1,029,000
O 2008 542t HIBTLAIY ACHZE(Z 2,404,000, Al 1,076,000)
3,480,000,0009 x 14! = 3,480,000
=H| 2,404,000
A28l 1,076,000
O 4S8 A17| O123taZE A4S AHS 242,000, & 10,371, Al 91,166)
345,714,000 x 99.37/100 = 343,537
=H| 242,000
A EH| 10,371
Al 91,166
O SIYH AY OtSsteZ Al dSAHZ 893,000, & 38,271, A| 335,258)
1,275,714,0009¥ x 99.28/100 = 1,266,529
=H| 893,000
A ZH| 38,271
AlZHl 335,258
O 42U 2|2 SHAIY(Z 3,700,000, = 317,000, Al 1,255,785)
5,286,000,0009 x 99.75/100 = 5,272,785
=H| 3,700,000
AlZ=H| 317,000
AlZTtH| 1,255,785




[ St ]
2H(200)AH2H & 8 (230)RAMRS  MEh(234)715E  F:(401)AHH|L L] Chel t A
2 s =

O O O O

O

O

(@)

0

S A3 st FHISAH 2,038,000, Al 0)
2,038,000,0008! x 14! =
St U 2|2 B xS AHZ 802,000, Al 2,817,322)

3,629,120,000¢ x 99.73/100 =

=]

AlZt]

R 22| A1A O HR|AFIBIAFY 2,300,000,000% x 141 =

ASH Y2 ZYHIZAL 3,600,000,0009 x 99.73/100 =

SAS FRE0IS oteE AldSA 200,000,000% x 14l =
Sthg 52| d8| S22 2 FH[AIY(Z 8,620,000, A 0)

8,620,000,0009 x 14| =

EIAAR| LHH| SHB2IRY 20 LAY (2 2,366,000, Al 0)
2,366,000,0009 x 14| =
=

O AL=D0RS St 2| A|d 2H2F2AHE 300,000, A| 700,000)

1,000,000,000¢ x 1A =
SIS MAY OfFIYA| FH4E HH|AY
550,000,000¥ x 99.37/100 =
TS O A E2 H4 FHAKY
550,000,000& x 99.37/100 =
2E T 12(FELHB Y22~RE0IE) 4T FBIAKY
400,000,000& x 99.28/100 =
24 242/ 0f 5H4-E HHIARY
450,000,000 x 99.28/100 =
e HHIAR(R2I20] 04
50,000,000 x 99.92/100 =

MEs Mg 72 2-3

=2
El
omn
~
ofm
ne
o
olr

205 165 U 14T 40| DHBAHFEIZO] o4
80,000,000¥ x 99.10/100 =
B4 65 24 170]8l MATAHFLIHO] oldh)

20,000,000 x 99.92/100 =

O 73 108 otk R+20| WASAHFUZA of4h)

80,000,000% x 99.10/100 =

O 272 SHEAIY U FHIBA

BH4E HEAIY U HHIZAL
740,7408 x 27074 x 99.28/100 =

BHAE ZTAIN U FHIBA
450,000¥ x 450m x 99.28/100 =

BH4E BRAIY U HHIBAL

500,000 x 600m x 99.28/100 =

2,038,000
3,619,322

802,000
2,817,322
2,300,000
3,590,280

200,000

8,620,000

2,366,000
2,366,000

1,000,000

546,535

546,535

397,120

446,760

49,960

79,280

19,984

79,280
1,342,762

198,560

201,042

297,840




[Ste=3 ]
BQO0)AEHAE  SHQIFUANIS HMEEQ3N)TEE  2:(401)AILEILLH Che) : 2l
oMY S ojprey | EEE | =g
oflAtoy
0 Stele AEDI X2 ALY
5,000,000% x 100 x 99.28/100 = 496,400
o ot WY TEEEA B0 A2 ArY
5,000,000¥ x 3071 x 99.28/100 = 148,920
02 Zz2lH| 442,413 265,910 176,503
O Hed A A2 ZH|ZA 120,391,000% x 14] = 120,391
O S35t 2| A4 of|H R AR SHALY 322,022,0009 x 14 = 322,022
03 A|HECHH]| 69,083 53,561 15,522
O S4HE 417|012 Stk Al dSAL
345,714,000¥ x 0.63/100 = 2,178
O YA 202 St A|d3AL
1,275,714,000& x 0.72/100 = 9,186
O ste3UH2d SEAY 5,286,000,000% x 0.25/100 = 13,215
O steZ A2 EfdE d|SAt
3,629,120,000¥ x 0.27/100 = 9,799
O Hed A= HH|ZAt 3,600,000,000€¥ x 0.27/100 = 9,721
O 85 MAUS OfF|UA| SH4E FHHIAlY
550,000,000€ x 0.63/100 = 3,465
O RS O FTAE HAC) £2 %A
550,000,000 x 0.63/100 = 3,465
O =3 =& 12(=324= tfH2|~RUIOIE) Stk HHIAY
400,000,000% x 0.72/100 = 2,880
O NYE 4% 72 23 FH|% S8E HE|AIY
450,000,000% x 0.72/100 = 3,240
O UIRE 145 Y2 545 HHIAIR (2220] ol
50,000,000¥ x 1.08/100 = 540
O 2575 168 Y ot R4L0| RASAHFLIN ofjLh
80,000,000¥ x 0.90/100 = 720
O ot3is 68 24 12018 HX|ZAHF DRI of4h)
20,000,000% x 1.08/100 = 216
O 2578 108 stk R4E0| WAHSAHFLIZIN of i)
80,000,000¢¥ x 0.90/100 = 720
O A2 ot AlE U FH|IZA} 9.738
o ot UEAIM L HH|SAL
740,740 x 270712 x 0.72/100 = 1,440
o BHEE 2T U HHIBAL
450,000 x 450m x 0.72/100 = 1,458
o ot HZAIM L HHISAL
500,000¥ x 600m x 0.72/100 = 2,160




2200)AH2ARE  SH(230)FHAMIRS ME:(234)FES  =:(4071)AIEH LR (Chef - 2@
oMY S ojprey | EEE | =g
Of| Arol
0 She= WU X2|ALY
5,000,000€ x 10071 x 0.72/100 = 3,600
o Stk WY S 210 M2 Aty
5,000,0009 x 3071 x 0.72/100 = 1,080
235 J|AZA| 1,600,000 480,000 [ 1,120,000
401 AldB|LRCHH| 1,600,000 480,000 | 1,120,000
01 AldH| 1,597,120 478,704 | 1,118,416
O ot L2 URAIY d2ISAL
400,000,0009 x 99.28/100= 397,120
O st-SLX2|Y Y =27] T E2SAL
600,000,0009 x 14| = 600,000
O steZTA2|y AdY47| FOUERIZA
600,000,000 x 14/ = 600,000
03 AlGSchH| 2,880 1,296 1,584
O S-S LY UZAIE E2ISAL
400,000,000 x 0.72/100 = 2,880
236 22T 57,058 0 57,058
405 ZHHz|EH|IS 57,058 0 57,058
01 ZpAtZ|SH| 57,058 0 57,058
O Steke M0l P22 ALY (AXZ2RYL|E])
37,058,0009 x 1€ = 37,058
O steke 24 YR AT YE=EY)
20,000,0009 x 1€ = 20,000
237 371781 67,300 26,650 40,650
405 ZHAMZIEH|IS 67,300 26,650 40,650
01 AHHZSH| 67,300 26,650 40,650
O ARE 92t S HIZ1H 1Y 200,000¢ x 5& = 1,000
O st Y28 WA HRE (PO 7€
1,300,0009 x 12cH = 15,600
O sRSAYEY PYUULI =2 uA 7Y
12,000,0009 x 174 = 12,000
O 33oteAe|ld 4Ed 257 |ud 7Y
5,700,0009 x 17§ = 5,700
O 33ty YRs Y 2=s W7 Y7 7Y
3,000,0009 x 27 = 6,000
O 2t SAHZY W71d 47| 719 3,000,0009 x 974 = 27,000
280 HIRsRAet 491,600 491,600 0
282 HH21Q3 AT Alst 491,600 491,600 0
601 2AYSHSLE 491,600 491,600 0
04 SYYFAYSAZYE 491,600 491,600 0




2 (200)AH2 A2 E  8(280)H|RSEAAR  MEH(282)F 22U Ha 48t F:(601)2 U HSAE (e -
oMY S ojprey | EEE | =g
ofAtey
O stesdiA 2L E 8ita dad(=491,600)
491,600,000¢ x 14 = 491,600
800 ofH|H| 500,000 498,329 1,671
801 OflH|H] 500,000 498,329 1,671
801 OflH|H| 500,000 498,329 1,671
O AtZH|E ofjH|H| 500,000,000 x 14| = 500,000 500,000 498,329 1,671




